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Instructions for Students ( BTN o forw fder)

Students are required to read the instructions carefully before starting solving the

question paper.
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Section — A (@ug - 371)

Do not open the question booklet until
you are asked to do so.

There are 50 Multiple Choice Questions
(MCQ) in the question booklet. All 50
questions are mandatory to solve.

Each question carries 0.80 mark for
Regular and 1 mark for NC students.
There are four options for each questions.
Fill the correct option in the OMR sheet.
Student have to darken only one circle
(bubble) indicating the correct answer on
the OMR Sheet. The circles on the OMR
are to be darkened properly with black/
blue ball pen only.

Fill in all the information (i.e. Roll No.
etc.) or both OMR sheet and question
booklet before starting the question
paper.

Submit OMR to the invigilator after
completion of examination.

Student can leave examination hall only
after completion of examination.
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Problem of economic choice arises
when :

(a) Wants are unlimited
(b) Resources are limited
(c) Limited resources have alternative

(d) All the above conditions are present

The production possibility curve is
concave to the origin because of :

(a) Increasing opportunity cost
(b) Diminishing opportunity cost
(¢) Constant opportunity cost

(d) None of the above

Which one of the following is not stock?
(a) Savings

(b) Foreign currency Reserves

(c) Quantity of export and import
(d) Total money supply

Which of the following is not a
characteristic of capitalism economy?

(a) Inheritance

(b) Freedom of enterprise
(c) Private project motive
(d) Central Planing

Ceteris paribus means
(a) Other factors are held constant
(b) The model is logical

(¢) No other variable affect the
dependent variable

(d) No other model can affect the
dependent variable
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6.

10.

What is the demerit of capitalist
economy?

(a) Economic Freedom

(b) Efficiency

(c) Motivation

(d) Economic instability

Equilibrium i1s a situation which is
characterised by :

(a) The absence of change
(b) The continuous change
(¢) The position of minimum profit

(d) Excess supply

Static analysis deals with :
(a) Process of equilibrium

between
different

(b) State of equilibrium
variables belonging to
periods

(b) State of equilibrium between

variables belonging to the same

period of time

(d) None of the above

Which of the following is not the
characteristic of perfect competition?
(a) Large number of buyers

(b) Large number of sellers

(¢) Homogeneous product

(d) Selling costs

Consumer's are likely to get a
maximum variety of goods under—
(a) Monopoly

(b) Perfect competition

(c) Oligopoly

(d) Monopolistic competition
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11.

12.

13.

14.

15.

Which one of the following is

represented by M ;?

(a) M; + Post office saving bank
deposits

(b) Currency with the
demand deposits with banks

(c) M, + Time deposits with banks

(d) M, + Post office saving bank
deposits

public +

The internal value of money means:
(a) Exchange rate

(b) Purchasing power of money

(c) Velocity of money

(d) Supply of money

Which of the following increases
circular flow of national income?

(a) Investment
(b) Savings

(c) Taxes

(d) Imports

Under
Revenue (AR) curve—

Monopoly the Average

(a) 1s parallel to OY-axis

(b) is parallel to OX-axis

(c) slopes downward to the right
(d) None of the above

Gross Domestic Product (GDP) is—
(a) GNP—Net indirect taxes

(b) GNP—Depreciation

(¢) GNP—(Export-Import)

(d) None of the above
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16.

17.

18.

19.

20.

GNP at market prices does not includes:
(a) Indirect taxes

(b) Depreciation

(c) Subsidy

(d) Wages and salaries

Slope of the consumption function
C=70+0.75Y 1is

(a) 70

(b) +0.75

() 0.75Y

(d)Y

D = 100 — 10 P is a functional
relationship of :

(a) Linear Positive
(b) Non-linear

(c) Linear negative
(d) Constant

The
establishes

quantity theory of money
relationship between

quantity of money and :
(a) Employment level
(b) General price level
(¢) National income

(d) Investment

Fisher's equation is :
(a) PT=MV + M’ V’
M
b) P=—
(b) KX
KP

(C) P:ﬁ

(d) None of the above
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21.

22.

23.

24.

25.

The first derivative of total product is:
(a) Average Product

(b) Marginal Product

(c) Elasticity of supply

(d) None of the above

If y=x?2, then@is:

dx

1
a —_—
(a) 2

1
b) —
(b) o
(c) 2x
(d) None of the above

Slope of the function

D=100-10P1s:
(a) 100

(b) 10

(c) —10
(d)100-P

demand

Total cost function TC=x> —8x* + 200
where x 1s output, Total fixed cost will
be :

(a) 208
(b) 204
(c) 201
(d) 200

Which of the following curve is not U
shaped?

(a) Average variable cost (AVC) curve
(b) Average Cost (AC) Curve

(c) Average Fixed Cost (AFC) Curve
(d) Marginal Cost (MC) Curve
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26. For a perfect competitive firm :

(a) AR > MR (Average Revenue
Marginal Revenue)

(b) AR = MR (Average Revenue
Marginal Revenue)

(c) AR < MR (Average Revenue
Marginal Revenue)

(d) None of the above

27. IfTR =100x —2x2% then MR will be :

(a)100x —4x
(b) 100 —2x
(c) 100—-4x
(d) 100

28. In y=8then dy will be :
dx

(a) 8
(b) zero
(c) 8y

y
(d) s

29. Positive economics deals with:
(a) Where 1is
(b) Where was
(c) What 1s
(d) What ought to be

30. Which of the following is the basis of

Credit?

(a) Payment in future

(b) Trust or Faith

(c) Pay back ability of the debtor
(d) All of the above
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31. The production possibility curve
(PPC) is :
(a) Convex
(b) Concave
(c) Horizontal

(d) Vertical

32. Which of the following is not an act of

production?

(a) Farming

(b) Teaching in a school
(¢c) Teaching of own child

(d) Construction of residential building

33. In India many companies selling tea
in the names of separate brands by
what name would you call the market
of tea?

(a) Monopoly
(b) Oligopoly
(¢) Monopolistic competition

(d) Perfect competition

34. Pigou's equation is
(a) M =KY
KR
b) P=—
(b) M
(© P= MV +TM \Y

_M
(d)P_KT
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35.

36.

37.

38.

39.

“Money is what money does” defined by:

(a) F.A. Waker

(b) Hartley withers
(c) Marshall

(d) Robertson

Name of Indian Central Bank is :

(a) State Bank of India
(b) Federal Bank

(c) ICICI Bank

(d) Reserve of India

When Total

Revenue

(TR) is

maximum, Marginal Revenue (MR)

will be :

(a) decreased
(b) zero

(c) increased
(d) constant
The

first derivative

Production (TP) will be :

(a) AP
(b) MR
(c) MP
(d) AR

Indian rupee is a:

(a) Standard coin

(b) Token coin

(¢c) Standard Token coin
(d) None of the above
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40.

41.

42.

43.

Which one of these qualities of money
1s essential before it can perform any

of its functions :

(a) Acceptability

(b) Stability in value
(¢) Durability

(d) Cognizability

Which of the following are one sided

transfers :

(a) Factor Income

(b) Factor Payment
(c) Transfer Payment

(d) Personal Income

Which one of the following is not a

stock variable :

(a) Savings

(b) Capital stock

(¢c) Money supply

(d) Capital formation

Real circular flow is related with

(a) Flow of consumption expenditure

and factor expenditure
(b) Flow of wages, Interest and goods
(c) Flow of wages, Interest and goods

(d) Flow of commodity and input

factor services

(d) Flow of taxes and net exports

ECO-51T-1001/36

(11)

40.

41.

42.

43.

SET A
o1 & fau o191 1 A 9 Ted Frefafad
H Y HH-T U ST 22
(a) THfd
(b) g H feeran
(c) fewrmua
(d) w&=m

e % ¥ Ul e w1 92—
(a) @Eq 3

(b) W& YA

(c) TEMROT G

(d) ferama 3

1 § 9 wid =R e o—
(a) w=d

(b) it =ik

(c) g1 Ufd

(d) it Frmior

STEdfeeh =shia FaTe 9 Afue 772

(a) IUGNT, I qAT & T I TR
(b) TSI, =S AU TG I TR
(c) a&g3l qen e Fansh &1 e
(d) = a1 gs Fafa =1 weme

[P.T.O]



SETA

44. Given NNP,;; =100 Cr subsidy=20Cr

45.

46.

Export and import (X — M) =—-10 Cr
Indirect tax = 30 Cr

Net domestic Product at Factor cost
(NDPy) will be

(a) 120 Cr.
(b) 110 Cr.
(¢) 90 Cr.

(d) 130 Cr.

Which one of them is flow variable
(a) Govt. debt

(b) Savings

(¢c) Gross domestic Product

(d) Consumer's wealth

Total cost function TC =x° —8x2
+4x + 200 where x 1s Output, average

fixed cost will be :

(a) x
X

X

©
X

@ 2%
X
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47.

48.

49.

50.

The fundamental assumption of
economic principle is :

(a) Ceteris paribus

(b) Full employment

(c) Efficiency

(d) Full utilization of resources

If y=2Jx then@is :
dx

1
®=7
1
b) ——
()2\/;

() Vx
(d) 2x

If K=010 0O=8000 units
M =34000 calculate average price of

and

a unit of output from Marshallian
equation of quantity theory of money.

Which is the correct average price
(a) Rs. 1
(b) Rs. 2
(c) Rs. 3
(d) Rs. 5

Any point above the P.P.C. is:
(a) Non-attainable

(b) Under Utilization

(c) Full Utilization

(d) None of the above
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B.A. (Semester-I) Examination, 2024-25
(For Regular & NC)

ECONOMICS
Paper Code : ECO-51T-1001

Economic Concept and Method

Section — B (wug — «)

GENERAL INSTRUCTIONS (®mar= fvT)

(@)

(i1)

(iii)

(iv)

No supplementary answer-book will be given to any candidate. Hence the
candidate should write the answer precisely in the Main answer-book only.
foret ot whenedl =1 Wb SW-gfam & & S o et w1 =fed fR 9 g
ST-YReRl ¥ 21 T gl 1 3w o

In Section - B there are 8 questions with internal choice, the candidates are
required to attempt 4 questions each question carries 10 marks for regular
students and 12.5 marks for non-collegiate students.

GUe-§ § el 8 e Adieh feehed Wied € wenell ol 4 e A €1 Wedeh e Frafha qiend
& forw 10 oish =1 @ T wEael whendd & fow 12,5 i &1 2

Make sure that your question booklet has all the 50 questions in Section - A and
8 questions in Section-B. Defection Booklet can be changed within 10 minutes.
- qfeeht ® Gt Wue-31 § 50 WY Ud Wue-d H 8 W BU ¥, 3! S shiferq) Ffequl gieent
1 10 foTe § Secaman S g 2|

If there is any difference in English and Hindi version, the English version will be

considered authentic.
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Section — B (wug — «)

1. (1) Definition of Economics.

ST i AR A |

(11) Whatis Nature of Economics?
SefSTE Y UeHfa A B2

(111) What is Assumptions in Economic analysis?
AR fawervor st A= 1 272

Or/3rgat
2. (1) Whatis Economic problem?

s Hwe 4 ©2

(11) Definition of Production Possibility curve.

SIS RIS Ik ki GRS IdTgd|

SETA

1/1.5

3/4

6/7

1/1.5

1/1.5

(111) Explain the Role of Price Mechanism in solving the Central problems in a

capitalism economy.

8/9.5

T Yofars] SAefereed § H<ia grenell & T ¥ Hiud Yo i i S|

3. (1) Whatis mixed economy.
fifsra srefemareen = 22
(1) Explain the characteristics of mixed economy?
fafsra stefezerean & @&10 SaET?

(111) How farisit a good combination of capitalism and socialism?
7E SAefeTee el qoh YSlele ° WHNEE o Uh =5l THT €2
Or/3gat
4. (1) Definition of National Income?
UL AT i IR a1 ?
(1)) Whatis the double counting problem?
e UM S qEE 41 22

(111) Describe the other concept of National Income.

UL 3T i T STIIRONST a1 T hifaU|
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(i1)

(ii)

(11)

(ii)

(i1)

(i)

(11)

Definition of Money?
ST i IR FdEa?

Describe of functions of money.

ST & 1A 1 T Hife|
Describe of merits and demerits of money.
ST o T F QU 1 I TS

Or/37ar

Definition of Central Bank?

FTT Sk I AR TaqrA?

What is the credit control by Central Bank.
Fa Sk 1 wrg e @2

Describe the functions of Central Bank.

F1T S % HEf w1 guia SISy

Definition of Capitalism?

TSftaTe shi IR STEa?

What are the main characteristics of capitalism.

ISiang st T fadrarstt @1 avia wifsa
Describe the merits and demerits of capitalism.
TSfaTe o T[T o SISl 1 FU Hifery)
Or/3rgar
Find derivatives?
y=6x*-b5x%+8x+15
Find derivatives?

TC=x>-8x% +4x +200
MC?
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(111) Find the mean.

TR {1 J1d hifsa)
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